ADAM

1343_85568

e — p— . —
- —

j Habitat
et Jardin.com

1/6



1343_85568

A M8X85mm X8 PCS 1/2
B (@ 722) M6X20mm X3 PCS 1/2
c M6X65 mm X4 PCS 1/2
d
D M8 X8 PCS 1/2
E 653 M8 X8 PCS 1/2
E @ M6 X4 PCS 1/2
G \/ M8X80 mm X1 PC 1/2
H > M6X72 mm X1 PC 1/2
| % ®50 X8 PCS 1/2
) ) M6 X4 PCS 1/2
K \/ M6 x 68mm ALFC e
L 8 M6 X4 PCS 1/2

2/6




(1) | 985X670X100 mm X1 PC 212
| |
2 ‘;-‘"“-|-' |[ 985X670X100 mm X1 PC 212
(3) 985X670X100 mm X2 PCS 212
(4) 1510X390X20 mm X1PC 212
(5) 1910X390X20 mm X1 PC 212
(6) 1910X960X100 mm X2 PCS 1/2
(7) 475X50 mm X4 PCS 1/2
(8) 1050X350X25 mm X1PC 2/2

FR : SAV/IINFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT

ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVICO POS-VENDA/INFORMAGOES/VIDEO/CONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: nnonimnennk?/vn Axrin/oviwpny

3/6




4/6



(1)
W

K

K B
(9)
gl B -
[T | i (1 —
- - TR
R—’ j‘L \U
B (4)
I —— —
- ————JI11

5/6



L1
RN

AR

T

bine

6/6



	1
	2
	3
	4
	5
	6

